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xERCISE 1CB) 
PindHhe unkndwn angles in the given fiaures 

In tianal2 ABC, AB AC 
AABC ig an isosceles trtiunole 
BAC80, ABC=T lACB y 

ABC ACB L =y 
9er tyt80°= 4 30°=rtr=l80-20 

A 

80 

B 
ar= 00 

=L= 100= 50 
2 

=y-50. 

In trtiangle ABC, AB=Bc 
ABCis an 1SoScble) t anale 
/SAC4o /ABC=a ACB =b 
CAB=ACB U0°=b_ 

yo+bta= i80y0+y0a= 180 

C uO 

c s0°to=180°> a= 180°-80=1go 
=0a-100 

A 

In truanae, ABCAB=BC 
'ABC ig. an isoscele triange 

ABC = 90,/BAC=y , /ACB-
/6CA=/BAC > L:9_ 
90fety = 180° 90°+etr= 180 
90+ =180° =) ax= 180°-g0° e- 

r=q0 =q0 = =y5 

=yU5 
in triomo fcb/Bcp= 80,cBD=/CDß7h=a_. 
20°+bto= 180 080°+bth -180 

80+Qb= 180 Ab=180-80 h=100 
beo0 b-50 a=50 

780 2 pbt-1200>50tg=l80°ce 180-50 



pate 
pega 

A 
Ip the isoceles bstianglo.BCD, 

q 
ZABD -36 [eD=120-86-9u
94 1c= 180°=> ax= 120°-qy°-86°
R=86 I=43 D 

P180-= 180°-ys3 
A 

in riiangle AcD, AC =CD 
CAD=AC= 35=m 

ACD +36t35°= 180 
AcD= 180-40=L0 

ACB 180°-110 0 

0+600t40°= 180°n= 180-13 A 
E n=50 

Since CAll DE then ADE AD =T 6 
Since AAGD is aisosoele treiang l 
then ABD= ADB 
Let ume both the angles = a 

/BADApot ABD = 180 
G0ta ta = 180 So+20-18o 
20=180-60 20=120 a=20 60 

80 

yl20° 

2 

180-0 2y>180-60 120 

2.Apply the pcoperttie of isosceles andequilate7a truangles to find the. unknaN_angla in the fiouae AÇAD is a isoscele izi00gle 
AD=/e=CAD=¥0_ 

fiquto 

ACD 180°-22 = 180-1yo° = yo° 
he AAsC is an isosceles tuanoe .ABCCAS=Y 



Date 

LACB 180-ACD 1804o°-M0 
In ABc ,140°12y 180 2y 10°-1yO = yuo 
y-20 

A In The AACD all the anglo) ose equal 
ie 60 each. Sinco the tiongle i 

a equilgdeial trtiangle 
60 D the AABC is a isoscelea taion glo. 

ACBBAC = a 
10020=180> 2a= 120°-100° 
2030 a 20 a= 0 

6 

BCD = y -yDt60= 100°_ 2 

BAD =X = M0t60=l00 

iRDp- Sinee he DE and FG a1e 
patallel ond AB is the 
interue cting ino of both the 
panalle lines Hhen all the 
intertioT. alLennate anale O1e 
equa 

P-60 30 
B 

ABCP= DAB =60 
Since,angle /AcG n_130 tren ACB= E130-130 50 

eAC= 0-(60t50) = 18-110=40° 
he ntertiort altercnat anale 
P=60,x=F0° onol y = 50 

BCA=/EAC =V= 50 

AABC isan isosceles irti angle 
AR= AcR= P 

30+2P = 180 P= 180-30>2P=150 
cP=150-15 

CI) 

2 

Since the BCD 1 an lgoS.colex qight ongleo. o 

trtlong le,then /ecDE90 aod EDß BD=5 

C= 45 t 45 = [20 



A 

ABCE is an i20ecelestrciangie. 

uo P+ 10-180, aP-180-40 

P-190, P-190°,=)P = 40 
y=180P,=> 180-40= 10 
180P 180-40°=N0° 

cpy 
D 

X=1]0, y=110 

TheACD is isoscele,. 

ACD=AC 
25 25 E AcB20 

ACDA20-120=GO 

120 

GO 
60 

D 

1p ecD=60 then ADc = G0. 
CAD= 60 

f Ac 6 then ADE = 180-60=120=y 
Z=180- (120t26)1=180°-14535 
=Goyai20 andza35 

(3 The anale of vertex ok ao isosceles tniaole 
is 00 Fird itS base angles.- 

Ang-2 
A The, ABC is an ISOScelex ctttanale 

Aaith a ventex angle is =IO0 
c Lets aSsung the bQe angles Qi r 

0 tioo =180 &x= 120-10,8x=80, y0 
The bos_onde Ore, uO Oach. 

QuOne of the bae añgles of an isoseled ty10.ng 1e a 
52ind it2 age of venteN._ 

An&2 AA The Aec is ango9celes tTiacale uth 

on of the, baso angle = /AeC52 
AC852 

CThe fale of ventg-/e 180-52 +52 
B 9 

SC= 180-101=76 
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